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NEW QUESTION 1

A container database (CDB) contains two pluggable databases PDB1 and PDB2.

The LOCAL_UNDO_ENABLED database property is set to FALSE in the CDB. Data file 24 of PDB2 was deleted and you need to restore and recover it.
The only RMAN backup that exists was created with the BACKUP DATABASE command while connected to CDB$ROOT.

Which three are true? (Choose three.)

A. Data file 24 can be recovered only while connected to PDB2.

B. Data file 24 can be restored and recovered while connected to CDB$SROOT.
C. Data file 24 can be restored only while connected toCDB$ROOT.

D. Data file 24 can be restored only while connected to PDB2.

E. Data file 24 can be recovered while connected to PDB2.

F. Data file 24 can be recovered while connected to CDBSROOT.

Answer: BCF

NEW QUESTION 2
Which two are true about RMAN backups when using a media manager to write backups to tape when there are only two tape drives? (Choose two.)

A. SBT tape compression can be used even if no RMAN compression is configured.

B. Any backup set written to the SBT device in this configuration can contain a maximum of two backup pieces.

C. Any backup written to the SBT device in this configuration can contain a maximum of two backup sets.

D. SBT tape compression and RMAN backup compression should be used in parallel.

E. The SBT device should be configured to use PARALLELISM 2 to allow both tape drive to be used simultaneously.

Answer: DE

NEW QUESTION 3
Which two are true about data movement between a hon-CDB and a PDB using Data Pump? (Choose two.)

A. Tablespaces are automatically created as neeed while importing full exports in either a non-CDB or a PDB.

B. Oracle attempts to convert conventional database users to local users when moving schemas from a non- CDB to a PDB.
C. A new PDB is automatically created when importing a non-CDB into a CDB.

D. Oracle attempts to convert common users to conventional users when moving schemas from a PDB to a nhon-CDB.

E. Moving data from a PDB to anon-CDB is only possible by using transportable tablespace export and import.

F. Moving data from a non-CDB to a PDB is only possible by using conventional export and import.

Answer: DE

NEW QUESTION 4
Examine this configuration:

> CDBlis a container database.
> PDBlandPDB2are pluggable databases inCDB1. You execute these commands successfully:
5 export ORACLE SID=cdbl

Ssglplus / as sysdba
SQL> SHUTDOWN TMMEDTATE
Oracle instance shut dow
SQL> STAERETUP MOUNT

Database mounted.
Which two are true? (Choose two.)

A. PDB1 and PDB2 are in MOUNT state.

B. Redo logs are opened.

C. PDB1 and PDB2 are in READ ONLY state.
D. CDB$ROOT is in MOUNT state.

E. PDB$SEED is in READ ONLY state.

Answer: BE

NEW QUESTION 5

A database is configured in ARCHIVELOG mode.

Full RMAN backups are taken and no backup to trace has been taken of the control file. A media failure has occurred.
In which two scenarios is complete recovery possible? (Choose two.)

A. when any archived log from, before, or after the most recent backup is corrupt.
B. after losing all copies of the control file

C. after losing an archived log from after the most recent backup

D. after losing an archived log from before the most recent backup

E. after losing the SYSTEM tablespace
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Answer: DE

NEW QUESTION 6

Examine these actions:

* 1. Create a new database for a recovery catalog.

* 2. Create a tablespace with sufficient space in the catalog database for the recovery catalog.

* 3.Configure ARCHIVELOG mode for the catalog database.

* 4, Create a user to own the recovery catalog schema with quota on the tablespace that will containthe catalog.
* 5. Grant the RECOVERY_CATALOG_OWNER role to the recovery catalog schema owner.

* 6.Grant the SYSBACKUP privilege to the recovery catalog schema owner.

Which are the minimum actions that must be performed before executing the CREATECATALOG command?
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Answer: D

NEW QUESTION 7

A container database called CDB1 is OMF-enabled.

PDB_FILE_NAME_CONVERT is not configured in CDB1. PDB1 was unplugged from CDB1 earlier in the week. Examine this command, which will be executed in
CDBL1:

CREATE PLUGGABLE DATABASE pdbl

USING ‘/u0l/app/oracle/oradata/pdbl.xml’ SOURCE_FILE_NAME_CONVERT =

(‘/u0l/app/oracle/oradata/’, ‘/u02/app/oracle/oradata/’); Which two are true? (Choose two.)

A. PDB1 data files already exist in the correct location.

B. DBMS_PDB.CHECK_PLUG_COMPATIBILITY must be run in CDB1 before executing the command.
C. PDB_FILE_NAME_CONVERT must be set before executing the command.

D. /uO1/app/oracle/oradata/pdbl.xml does not contain the current locations of data filesfor PDB1.

E. PDB1 must be dropped from CDB1.

Answer: AE

NEW QUESTION 8
Which three are true in Oracle 19c and later releases? (Choose three.)

A. If the password file location changes, then the new location is used automatically by the Oracle Server.
B. Schema Only accounts can be granted administrator privileges.

C. All the Oracle-supplied accounts are Schema Only accounts.

D. Privilege Analysis is included in Oracle Enterprise Edition and no longer requires Database Vault.

E. Unified Auditing can be configured to audit only events that are issued indirectly by an audited user.

F. Unified Auditing can be configured to audit only events that are issued directly by an audited user.

Answer: BCD

NEW QUESTION 9
Which three are true about Recovery Manager (RMAN) in Oracle Database 19c and later releases? (Choose three.)

A. Itis only possible for RMAN to connect to a pluggable database as a target if an RMAN Virtual Private Catalog is used.
B. It isalways possible for RMAN to connect to a pluggable database as a target if any RMAN Catalog is used.

C. A Virtual Private Catalog used to register a container database must be created in a pluggable database.

D. A Virtual Private Catalog used to registera container database can be created in a pluggable database.

E. It is always possible for RMAN to connect to a pluggable database as a target.

F. A Virtual Private Catalog used to register a container database can be created in a non-container database.

Answer: DEF

NEW QUESTION 10
Which three are true about Optimizer Statistics Advisor? (Choose three.)

A. It can berun only manually.

B. It is part of the DBMS_ADVISOR package.

C. It can recommend changes to improve the statistics gathering process.
D. It always analyzes all schemas in the database.

E. It runs automatically every night by default.

F. Itis part of theDBMS_STATS package.

Answer: ACF
Explanation:

https://mikedietrichde.com/2017/08/22/oracle-optimizer-statistics-advisor-in-oracle-database-12-2-0-1/ https://www.oracle.com/technetwork/database/bi-
datawarehousing/twp-bp-for-stats-gather-19¢-5324205.pdf

NEW QUESTION 10
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Examine these queries and their output:

SQL> select pdb name, name, pdb restore point, c

2 from vSrestore point natural join dba_ pdbs;
PDE NAME MNAME PDE BRESTORE POINT CLEAN PDE RESTORE POINT
PDR1 Rl YES NG

LOCAL UNDO ENBBLED FALSE

An online RMAN backup of the CDB was taken an hour before Restore Point R1 was created. You want to
recover PDB1 toRestore Point R1. How do you achieve this?

A. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using RMANwhile connected to PDB1.

B. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using SQLwhile connected to PDB1.

C. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using SQLwhile connected to CDB$ROOT.
D. Execute FLASHBACK PLUGGABLE DATABASE PDB1 TO RESTORE POINT R1 by using RMANwhile connected to CDB$ROOT.
E. This cannot be done due to the lack of aclean restore point.

Answer: B

NEW QUESTION 11
How do you configure a CDB for local undo mode?

A. Open the CDB instance in upgrade mod

B. In cdb$root, execute alter database local undo on, and then restart the CDB instance.

C. Open the CDB in read-only mod

D. In cdb$root, execute alter database local undo on, and then change the CDB to read/write mode.
E. Open the CDB instance in restricted mod

F. In cdbS$root, execute alter database local undo o

G. create an undo tablespace in each PDB, and then restart the CDB instance

H. Open the CDB instance in restricted mod

I. In cdb$root, drop the undo tablespac

J. Execute alter database local undo on in each PDB, and then restart the CDB instance.

K. Open the CDB instance in upgrade mod

L. In each PDB, execute alter database local undo on, create an undo tablespace, and then restart the CDB instance.

Answer: D

NEW QUESTION 13
Which two are true about flashback features in Oracle Database 19c and later releases? (Choose two.)

A. Flashback logs areautomatically purged when DB_FLASHBACK_ RETENTION_TARGET is set lower than the time they have already been retained.

B. Flashback logs are monitored and proactively deleted when beyond the retention period defined in DB_FLASHBACK_RETENTION_TARGET only after there is
space pressure.

C. Flashback logs are monitored and proactively deleted when beyond the retention period defined in DB_FLASHBACK_ _RETENTION_TARGET before there is
space pressure.

D. Flashback logs are monitored for being older than the retentionperiod defined inDB_FLASHBACK_ RETENTION_TARGET and can be deleted by an
administrator written event trigger.

E. Flashback logs are automatically purged whenever the value of DB_FLASHBACK_RETENTION_TARGET is changed.

Answer: BE

NEW QUESTION 17
Which two are true about Oracle Flashback features? (Choose two.)

A. FLASHBACK QUERY can retrieve REDO records from ONLINE and ARCHIVED REDO LOG files.

B. FLASHBACKVERSION QUERY can retrieve REDO records from ONLINE and ARCHIVED REDOLOG files.

C. FLASHBACK TABLE can undrop a column.

D. FLASHBACK DROP can undrop an index when undropping a table.

E. After a database is restored from flashback logs using the FLASHBACKDATABASE command, it is sometimes rolled forward using redo logs.

Answer: DE

NEW QUESTION 22
Which two are true about the character sets used in an Oracle database? (Choose two.)

A. Single-byte character sets provide betterperformance than multibyte character sets.

B. Unicode enables information from any language to be stored using a single character set.

C. Unicode is the only supported character set for Oracle databases created using Database Configuration Assistant (DBCA).
D. Single-byte character sets always use 7-bit encoding schemes.

E. Multibyte character sets allow more efficient space utilization than single byte character sets.

F. Single-byte character sets always use 8-bit encoding schemes.
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Answer: AB

NEW QUESTION 25
Which two are true about SQL Performance Analyzer (SPA)? (Choose two.)

A. ltis integrated with the SQL Access Advisor.

B. It predicts the impact of system changes on SQL workloadresponse time.

C. It provides before and after execution statistics for each SQL statement in the analysis task
D. It offers fine-grained analysis of all the SQL statements in the analysis task as a group.

E. SQL statements that were originally run concurrently are run concurrently by SPA.

Answer: BD

NEW QUESTION 27
Which two are true about RMAN encryption? (Choose two.)

A. RMAN encryption keys are stored in a database keystore.

B. RMAN can encrypt the Oracle Database password file.

C. Dual-mode encrypted backups can be restored only if boththe password and the keystore used for encryption are available.
D. The SET ENCRYPTION command overrides encryption settings specified by the CONFIGURE ENCRYPTION command.
E. Password encryption can be persistently configured using the CONFIGUREENCRYPTION command.

Answer: CD

NEW QUESTION 29
Which two are true about RMAN duplexed backup sets? (Choose two.)

A. A duplexed backup set uses the same number of SBT channels as a non-duplexed backup set for the same number of files.
B. A non-duplexed backup set written to disk can be duplexed to disk bybacking up the backup set that is already on disk.

C. A non-duplexed backup set written to SBT can be duplexed to tape by backing up the backup set that is already on tape.

D. A non-duplexed backup set written to disk can be duplexed to tape by backing upthe backup set that is already on disk.

E. A non-duplexed backup set written to SBT can be duplexed to disk by backing up the backup set that is already on tape.

F. A duplexed backup set always uses twice as many SBT channels as a non-duplexedbackup set for the same number of files.

Answer: DF

NEW QUESTION 33
Which four are true about performing Tablespace Point -In-Time Recovery (TSPITR) using Recovery Manager (RMAN)?

A. It can be performed using anauxiliary instance managed by a DBA.

B. It can be used to recover a truncated table.

C. RMAN automatically adds any required tablespaces to the recovery set to make it self-contained.
D. RMAN always includes tablespaces containing undo segments in the recovery set.

E. It can be performed repeatedly until the correct time is found without using an RMAN catalog.

F. flashback database must be enabled for it to work.

G. It can be used to recover a dropped tablespace.

H. It can be performed using an auxiliary instance managed by RMAN.

Answer: AEFH

NEW QUESTION 36
Which three are true about requirements for various FLASHBACK operations? (Choose three.)

A. FLASHBACK transaction query requires undo to retrieve all versions of a row that existed between two points in time.
B. FLASHBACK drop requires thatthe RECYCLEBIN parameter be set to ON.

C. FLASHBACK version query requires that the RECYCLEBIN parameter be set to ON.

D. FLASHBACK DATA ARCHIVE requires undo to store all versions of all rows of a table being tracked.

E. FLASHBACK drop requires undo to retrieve all versions of a row that existed between two points in time.

F. FLASHBACK version query requires undo to retrieve all versions of a row that existed between twopoints in time.

Answer: ABF

NEW QUESTION 41
Which two are true about OS groups and users for OracleGrid Infrastructure and the Oracle Relational Database Management System (RDBMS)? (Choose two.)

A. By default, members of the OSASM group can access Automatic Storage Management and RDBMS instances.

B. The primary group for the Oracle Grid Infrastructure and Oracle Database owners must be the Oracle Inventory group.
C. The Oracle Grid Infrastructure installation must be owned by the grid user.

D. The Oracle Grid Infrastructure owner owns Oracle Restart and Oracle Automatic Storage Management binaries.

E. The Oracle Grid Infrastructure owner must have OSOPER, OSBACKUPDBA, and OSKMDBA as secondary groups.
F. The same OSDBA group must be used for Automatic Storage Management and the Oracle Database.

Answer: EF

NEW QUESTION 44
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Which three are true about Automatic Workload Repository (AWR)? (Choose three.)

A. By default, AWR snapshots are taken every 60 minutes.

B. Its collection level is determined by the value of theSTATISTICS_LEVEL database parameter.
C. By default, AWR snapshots are retained for 7 days.

D. The taking of AWR snapshots can be disabled.

E. AWR data is stored in the SYSTEM tablespace.

Answer: ABD

NEW QUESTION 48
Which three are true? (Choose three.)

A. Virtual Private Database (VPD) policies on objects in an application root are automatically synchronized with all application PDBs containedin the application
container.

B. Application-common TSDP policies are always container specific.

C. Application-common Transparent Security Data Protection (TSDP) policies can be created only within an application install/patch BEGIN-END block.

D. Application-common Oracle Label Security (OLS) policies cannot be created in an application root outside an install/patch BEGIN-END block.

E. Fine-grained auditing (FGA) policies in an application root are automatically synchronized to all application PDBs contained in the application container.

F. Application-common OLS policies can be created in an application root inside an install/patch BEGIN-ENDblock.

G. Unified auditing can be automatically synchronized to all application PDBs in an applicationcontainer.

Answer: ADG

NEW QUESTION 51
Which two are true about the Automatic Database Diasnostic Monitor (ADDM)? (Choose two.)

A. It analyzes a period of time corresponding to the 12 hours of activity.
B. It runs automatically after each AWR snapshot.

C. A DBA can run it manually.

D. Results are written to the alert log.

E. It analyzes a period of time corresponding to the last day of activity.

Answer: BC

NEW QUESTION 52
Examine this configuration:

* 1.The ORCL database data files are in Automatic Storage Management (Oracle ASM) disk group +DATA. * 2.0RCL uses disk group +FRAfor the Fast Recovery
Area.

* 3. LISTENER is the listener for ORCL.
* 4, The database, listener, ASM instance, and ASM disk groups are managed by Oracle Restart. 5.All components are currently shut down.
You execute this command:

$ srvctl start database -d ORCL

What is the outcome?

A. The ORCL database, the Oracle ASM instances, the +DATA and +FRA disk groups, and the LISTENERare started.
B. Only the ORCL database instance is started.

C. Only the ORCL database and the ASM instances are started.

D. Only the ORCL database instance, the Oracle ASM instance, and the +DATA and +FRA disk groups are started.

E. Only the ORCL database instance and the +DATA and +FRA disk groups are started.

Answer: D

NEW QUESTION 55
Examine this configuration:

> CDBLlis a container database.
> PDBlandPDB2arepluggable databases inCDBL1.

> PDBlandPDB2areOPENINREAD WRITEmode.
You execute these commands successfully:

5 export ORACLE SID=CDBI1
5 sglplus / as sysdba

SQL> ALTEER SESSICHN SET CCOHNTAINEE = PDBL;
Session altered.

SQL> SHUTDOWN IMMEDTATE

Which two are true? (Choose two.)

A. Uncommitted transactions in PDB1 have been rolled back.

B. PDB1 is closed.

C. Uncommitted transactions in CDB1 and PDB1 have been rolled back.
D. CDBL1 is shut down.

E. CDB1 is in MOUNT state
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Answer: AB

NEW QUESTION 59
The USERS tablespace consists of data files 3 and 4 and must always be online in read/write mode.
Which two are true about using RMAN to perform an open database back up of this tablespace? (Choose two.)

A. Backups must be doneincrementally.

B. Backups must be contained in backup sets.

C. Backups can be taken only if the database is in ARCHIVELOG mode.
D. Backups can be done incrementally.

E. The database must be registered in an RMAN catalog.

F. Only consistent backups can becreated.

Answer: CE

NEW QUESTION 64
YourSALES ROOTapplication container has two application PDBs. TheSALES_APPapplication has a common table,FIN.REVENUE, in the two PDBs. Examine
this query and its output:
SELECT containers_default, container_map, table name
FROM dba tables WHERE owner='FIN’;

CONTAINERS DEFAULT CONTAINER MAP CONTAINER MAP OBJECT TABLE NAME
O YES NO REVENUE
NO NO YES MAPTABLE

Which two are true? (Choose two.)

A. The CONTAINERS clause cannot be used in queries on the REVENUEtable.

B. The REVENUE table must be a list-partitioned table.

C. The MAPTABLE tables defines a logical partition key on a commonly used column for the REVENUE table.
D. The MAPTABLE table is a metadata-linked table.

E. A container map exists for theREVENUE table, but is not enabled.

F. The REVENUE table partitions are not pruned across the PDBs automatically.

Answer: CE

NEW QUESTION 69
Which two are facets of performance planning that should always be considered or implemented for an Oracle Database environment? (Choose two.)

A. defining primary keys for all tables to speed up all queries
B. using check constraints to speed upupdates

C. defining foreign keys for all tables to speed up joins

D. the physical data model

E. the configuration of storage arrays

Answer: AE

NEW QUESTION 70
Which three are true about Audit policies In container databases (CDBs)?

A. All audit records are written to the audit trail in CDBSROOT

B. A common unified audit policy can be created at the application root level.

C. A common unified audit policy can be created at the CDB level.

D. An application PDB cannot have a local audit policy.

E. Fine-grained auditing policies defined in an application root must be manually synchronized by each application PDB contained in the application root.

F. Application-common unified audit policies defined In an application root must be manually synchronized by each application PDB contained in the application
root.

Answer: DEF

NEW QUESTION 73
Which three actions are performed by the Oracle Preinstallation RPM, oracle-database-server-xxxx- preinstall, for Oracle Grid Infrastructure, where xxxx is the
Oracle version and release? (Choose three.)

A. performing checks to ensure minimum configuration requirements for Oracle Grid Infrastructure are met
B. creating the oracle OS user

C. creating the OSDBA (dba) group

D. creating thte oralnventory (oinstall) group

E. creating the grid OS user

F. configuring the OS for Oracle Automatic Storage Management shared storage access

Answer: BCD

NEW QUESTION 74
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Which three are true about upgrading Oracle Grid Infrastructure? (Choose three.)

A. A direct upgrade can be performed only from the immediately preceding Oracle Grid Infrastructure version.

B. The newer version is installed in a separate Oracle Grid Infrastructure home on the same server as the existing version.
C. An existing Oracle base can be used.

D. The upgrade process will automatically install all mandatory patches for the current version of Oracle Grid Infrastructure.
E. Existing Oracle Database instances must be shut down before starting the upgrade.

F. Only the grid user can perform the upgrade.

Answer: DEF

NEW QUESTION 76

You issued this command:

RMAN> BACKUP RECOVERY FILES;
Which two are true? (Choose two.)

A. All Oracle recovery files not in the current FRA that have not been backed up already, are backed up.
B. All non-Oracle files in the current FRA that have not been backed up already, are backed up.

C. All Oracle recovery files in the current FRA that have not been backed up already,are backed up.

D. All Oracle recovery files in the current fast recovery area (FRA) are backed up.

E. These backups can be written to disk or SBT.

Answer: DE

Explanation:
https://blog.toadworld.com/rman_-_using_the_flash_recovery area

NEW QUESTION 81
Which three are true about the SQL Tuning Advisor? (Choose three.)

A. It checks each query being analyzed for stale statistics.

B. It checks each query being analyzed for missing statistics.

C. It only recommends syntactic changes to SQL statements.

D. It can recommend semantic changes to SQL statements.

E. It considers all SQLstatements being analyzed by the advisor task as a group.

F. It builds SQL profiles for each poorly performing SQL statement to prevent regressions.

Answer: ABF

NEW QUESTION 85
Which three are located by using environment variables? (Choose three.)

A. the Optimal Flexible Architecture (OFA) compliant path to storeOracle software and configuration files.

B. the location of Oracle Net Services configuration files

C. the list of a disk group names to be mounted by an Oracle Automatic Storage Management (ASM) instance at startup
D. default directories for temporary files used by temporary tablespaces

E. the temporary disk space used by Oracle Installer during installation

F. the maximum number of database files that can be opened by a database instance

Answer: ABE

NEW QUESTION 87
You have configured RMAN SBT channels to write backups to media. You then take an RMAN backup by using this command:
EMEN> BACEUP AS COMPEESSED BACEUESET

DATABASE
EEEFP UNTIL TIME ‘SYSDATE + 730
EESTORE POINT ‘OLD CONFIGURATION' ;

Which three are true? (Choose three.)

A. The restore point is a label for the system change number (SCN) that will be savedtwo years after the archival backup was taken.

B. The data file backups in the self-contained archive backup are not considered obsolete for two years regardless of the retention policy.
C. All archive logs created after this backup are kept for two years.

D. The SPFILE is included in the self-contaied archival backup.

E. The control file is included in the self-contained archival backup.

F. The restore point is a label for the system change number (SCN) before the archival backup was taken.

Answer: CDE

NEW QUESTION 92
Which two are true about the execution of operating system scripts starting from Oracle Database 19c¢? (Choose two.)

A. orainstRoot.sh can be executed automatically by the Database installer by using sudo or root credentials.
B. root.sh can be executed automatically by the Database Installer only if it is provided with root credentials.
C. The sudo password can be specified in a response file.

D. root.sh can be executed automatically by the Database installer only by using sudo credentials.

E. The sudo password must be specified in a response file.
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F. The root password cannot be specified in a response file.

Answer: AF

NEW QUESTION 97

While backing up to an SBT channel, you determine that the read phase of your compressed Recovery Manager (RMAN) incremental level O backup is a
bottleneck.

FORCE LOGGING is enabled for the database.

Which two could improve read performance? (Choose two.)

A. Increase the size of tape I/0O buffers.

B. Disable FORCE LOGGING for the database.
C. Increase the size of the database buffer cache.
D. Enable asynchronous disk I/O.

E. Increase the level of RMAN multiplexing.

Answer: DE

NEW QUESTION 101
Which three are true about Oracle Grid Infrastructure for a Standalone Server?

A. It includes both Oracle Restart and OracleAutomatic Storage Management (ASM) software.

B. It creates one disk group during installation.

C. It requires the operating system oracle_base environment variable to be predefined before installation.

D. It requires Oracle ASM Filter Driver (ASMFD) to manage Automatic Storage Management (ASM) disks

E. It requires Oracle ASMLibto manage Automatic Storage Management (ASM) disks.

F. Automatic Storage Management (ASM) requires that O/S groups OSASM and OSDBA be assigned as secondary groups for its installationowner.

Answer: ABD

NEW QUESTION 104
Which two are true about diagnosing Oracle Database failure situations using Data Recovery Advisor? (Choose two.)

A. Using the Data Recovery Advisor LIST FAILURE command always requires that the databasefor which failures are to be listed is in MOUNT state.
B. A failure can be closed only when it has been repaired.

C. Data Recovery Advisor can be used if a database is closed.

D. The Data Recovery Advisor CHANGE FAILURE command can be used only to changefailure priorities.

E. Data Recovery Advisor can proactively check for failures.

Answer: DE

NEW QUESTION 105
While backing up to the Oracle Fast Recovery Area (FRA), you determined the backup is taking too long and suspect a performance bottleneck.
Which three are true about diagnosing and tuning these problems? (Choose three.)

A. If an RMAN BACKUP VALIDATE command takes roughly the same time as an actual backup, then both read and write I/O are likely bottlenecks.

B. Setting DBWR_IO_SLAVES to a non zero value can improve backup performance when using synchronous I/0.

C. If an RMAN BACKUP VALIDATE command takes noticeably less than an actual backup, then write 1/O is a likely bottleneck.

D. If an RMAN BACKUP VALIDATE command takes roughly the same time as an actual backup, then read 1/O is a likely bottleneck.

E. Data files with a high value in VSBACKUP_SYNC_|O.DISCRETE_BYTES_PER_SECOND are a potential performance bottleneck when synchronous /O is
used.

F. Setting DBWR_IO_SLAVESto a non zero value can improve backup performance when usingasynchronous 1/0O/

G. Data files with a high value in VSBACKUP_ASYNC_I0.SHORT_WAITS are a potential performance bottleneck when asynchronous I/O is used.

Answer: BCE

NEW QUESTION 107

Your container database, CDB1, has an application container, HR_ROOT, with an application PDB, HR_PDBL1.

You have the required privilege to clone HR_PDBJ1 to container database CDB2, which does not contain HR_ROOT.
Which two are always true? (Choose two.)

A. CDB1 and CDB2 must be in shared undo mode.

B. A common user must exist in CDB2 with the CREATE PLUGGABLE DATABASE privilege.
C. All transactions in HR_PDB1 of CDB1 must commit before the cloning process starts.

D. Cloning HR_ROOQOT automatically clones HR_PDB1.

E. The HR_PDBI1 clone created in CDB2 will be in mount state when cloning ends.

Answer: BD

NEW QUESTION 109
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